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1. 392013 9 ‘wReRe' 41 9gal 7 I YA S 9 U e e AR ?
(1) W feamfn T Twa
2) W feamfn e T 1
(@) W feamftr T TEE T
@) . feamfor g TR

What is the full name of the Indian Scientist who was awarded with the ‘Bharat Ratna’ in
2013 ?

(1} Prof. Chintamani Naresh Rama Rao
(2) Prof. Chintamani Narsinha Ramchandra Rao
(3) Prof. Chintamani Nagesh Ramachandra Rao

(4) Prof. Chintamani Narendra Rama Rao

2. W THCI=N HISE D el ok @ T4 &7 O H% WEHT Uiyd $0 ?
(1) 10% 2) 20% (3) 30% (4) 40%

How much percentage of core area of ‘tiger project’ has been declared by the Central
Government as a tourist area ?

1) 10% @) 20% @B) 30% 4) 40%

3. o gy Tedex 3 fedat 2013 w4 geEtea WAl wagd ot ?
1) sEfEmdE  (2) W (3) @ (4) SmEEN
Which Comet came nearest to the Earth in the month of November - December 2013 ?

(1) Ikeya - Seki (2) Halley's (3) Tempel (4) ISON
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(@)
(b)
(©)
(d)

(1)
(2)
(3)
(

4)

e TRE EER
oY YT SHLOCEE Iaie (i) G AgS

wafta

IRATAT 44 391 SNAET Tove Aeicqarite aafig fasa enfor afis o=t seoit % .

S st
I S
(a) (b) (9
(i) (i) (iv)
© Gy (i)
(i) (v) @)
v @ @)

agfta e
()  TBH A SEeET

(iif)  =feRT e
(iv) AR SIpsrehi
(v) s T
(d)
(@)
v)
(i)
(iv)

Match the Awards with the winners at the 44th International Film Festival of India.

(@)
(b)
(c)
(d)

—_— e e
W M2
e

Life Time Achievement Award

Awards

Winners

{ij Alon Moni Aboutboul

First Centenary Commemorate Award (if)  Jiri Menzel

Best Actress

Best Actor
(@ (b)
() (i)
@ (@)
() (v)
v) @

(c)
(iv)
(ii)
(i)

(i)

(iii) Waheeda Rehman
(iv) Maegdalena Boczarska

(v) Kaushik Ganguly
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5.  UTE HYA/HYA g,

()

)

(4)

‘E-TTeev HIR’ AT HOM YWY § URAS 6 59 1.

‘T el wifed! g’ GE HIOMN FLAGRY § TRAENS IR T T,

FYA (a) TV, FUF (b) THA

FUA (a) THE, FAT (b) T

F (a) T (b) T TUH

FY (a) o (b) TR IR

Select the correct statement /statements.

()

(b)

(3)

(4)

Andhra Pradesh is the first state in India, which declared ‘E-Governance Policy.

Madhya Pradesh is the first state in India, which started ‘State Residence Information
Centre.”

Statement (a) is correct, statement (b) is incorvect.

Statement (a) is incorrect, statement (b) is correct.

Both the statements (a) and (b) are correct.

Both the statements (a) and (b) are incorrect.
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6.  WRATSA] Tiged H7e HfgH=a Fearmie ITHl S0 et H it Jesvn &4
ITHITW Eap
(a) = W () WA ATATEeTE! ST
(b) & faveush (i) HTET= WeE i fenty =1 SwwerEt aqrEl
(c) T Fwu (iti) V-TBEAT ST WS i T
(d) @vige HiewTg a7 (iv) T SRR S RIS F QITeAt FTHEATET TR

@ (b)) (g (d)
1 vy @ @ ()
(2 @ @ (@) @)
(3) @) Gv) (@ ()
4 6 (i) @) (@

Match the instruments in Orbiter of first Indian Mission to Mars, with their functions :

Instruments Functions
(a) Methane Sensor (i) To study Martian atmosphere
(b} Composition Analyser {(ii} To probe Martian Satellites- Phobos and Deimos
(c) Colour Camera (i) To map surface composition and Minerology
(d) Imaging Spectrometer (iv) To measure gas in Mar’s atmosphere and map its
source.

@@ (b () (d)
(1 vy ) () (i)
2 @ @ () ()
@) ) Gv) G ()
4 @) () @) ()
7. OYAE (SEEE) TUIEIST TUR HAR HGedl &M $18gia SR A |, S Y9
T AR 36-40 a4 fhar 02 feamioda vgvR aig 2

(1) T Tgew (2) T wm
(3) fomrsn @) et fou

What is the name of new Insulin Injection for diabetic patients that has impact in the patient
body for 36-40 hours or 02 days ?

{1) Insulin degludec (2) Insulin Aspart

{3) Victoza (4) Insulin Lispro
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8. wHla AR st Snfr AR T A vl w4
T fereiHieT el wist
(a) WA (i) 1463
(b) A (i) 3380
(c) =+ (i) 605
(d) wFER (iv) 4053

(@ (b) () (d)
(1) @) @) G) @
2 6 @ @) (v)
(3 @ v @ )
@) @ @ G @

Match the length of Indian border with the neighbouring states :

States Length in Kilometers
(a} Bangladesh (i) 1463
{b) Bhutan (i) 3380
(c) China (iii) 605
(d) Myanmar (iv) 4053

(@ () ) (@
1) (v) @) @) @
2) O @ @) (v)
@ @ (v @ (i)
(4) @) @ @) ()
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9. T 2013 = ‘Tava gfgas (vade) AfvaTein’ v 7ea S Gerg fasdt aver?
(1) favermm amg () =ofeHR FwEHS
(3) I S (4) T wEE
Who was the winner of the “World Championship of Chess’ competition in the year 2013 ?
(1) Vishwanathan Anand (2) Viadimir Kramnik
(3) Veselin Topalov (4) Magnus Carlsen
10. 1966 WA YIS IT YUR SRNIR @rdtedst et IeRe &l ?
(1) g R FE (2) wd fan st
(@) F=ue 4) OIHUS T BFIH
Which of the following was recommended by the Administrative Reforms Commission (ARC)
in 1966 ?
(1) Right to Information Act (RTI} (2) Sarva Shiksha Abhiyan
(3) Lokpal (4} Lokpal and Lokayukta
11.  9E Qo SRt v o faemh Taoean auigw=n 69 fas

\

x| O|Z|»n
~ =] -
~3

MR »lO

B g? P
o) - @) R ﬁ (4)

L U [vi v

Choose the missing set of alphabets in place of (?) for compieting square :

=
N

@)

2|vi]o
T|?s
L|?|K
2 AT

x| |O|Z|w

)
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12. & ¥ CST RIS W1 1R, w1 fowmumsn q&e 5 fF. M. aw 997 W 7R, =
5 famoft, afaer SEdiEy 9 Suq R 9 e 7 R, Saer [Eee et I o @ CS
WM 9 SRS T Jw fHd ?

(1) 17 f&. 2) 13 fwmn (3) 12 f&f. (4) 15 fe..

Anil is standing at CST station, from that place towards east 5 kms apart Baban is standing.
On Baban's northern side 5 kms apart Chandrashekhar is waiting and he has to travel 7 kms
towards east to Dadar. Thus what is the straight distance between CST station and Dadar ?

(1) 17 km (2) 13 km (3) 12 km @) 15 km

13, R Ffaaitst Ao Frerien fRRaeama e gfaid! sendie giasn e ?

(1) @ @) % () %7 @) Z]%

Which of the following is not the mirror image of the accompanying image after rotating it
appropriately ?

(1) @ @ % ®) % @ A%
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14. 3 e 2004 71 foaw SR wiHaR @@ 9 3 9 2011 1 feaelt Fom ar ow@e ?

(1) WHER (2) 9HuER (3) HTER (4)

If 3 March, 2004 falls on Monday, then on which day will 3 March 2011 fall ?

(1) Monday (2) Wednesday (3) Tuesday (4) Thursday
15. feoom wits! FIR Seq= FARR IS TR SUR AET ?

F |Z|N]|

D[]}

E E
ZN DF Nx XZ DN

(a) ) @ d @

iy ;

(1) (@ () ) (2) (b)), () 3 @ @ 4) (@
Which of the following cubes cannot be produced by folding accompanying paper ?

F|Z|N]|

[O]>]m=]

ZIN D|F N| x X|z DN
(a) (b) (©) (d) (e)

Options :

(1) @) ®) (@ 2} ®) ) @ @) @ @ 4) (@) (e
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16. 791 e WA famgren fasmnt wiam fael.

BN

(1) L (2) ) (4)

Study the pattern and choose the image in place of question mark :

(1) (2) (3) (4)
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2. O IT Ta% war! Sl Gl HUgE e @ o e e amE) ?
(1) ¥ 200 2) T 220 (3) % 250 (4) T 300

While buying fruits one customer purchased 2 guavas and 3 pineapples and gave
< 245. Second customer purchased 1 apple and 2 pineapples and paid I 175. Third customer
purchased 3 guavas and 4 apples and paid ¥ 130. If I want to buy a pair of each fruit what
amount should I pay ?

1) T 200 (2) T 220 @) T 250 4) %300

18. YAvY I yHR S| fom
ST, Ud VT ¥ e sl .
e STETHR gt AR,
«  TE U =T 3R,
+ UV o e
et SR Fa fee T fra oM ?
(1) VTS IS Ad (2) U@ @ O R
(3) ST TF 9IS IR (4) ST U TH IR
Study the premise and answer the question :
S, T, U and V are all different persons.
. S is the daughter of T
* TisthesonofU
. U is the father of V
Which among the following statements is contradictory to the given premise ?

(1) Vis the father of S {2) U has three children
(3) S has one brother (4) Sis the grand daughter of U
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19, frarn swden Siged afeol s daew WIS orga. fa=n W, afeaer Sae WIS ARd [ gWe
wigoit s, Fremer wpv Tt = o wrave omRw ?
(1) 6 2 5 (3) 3 4 7
Nitya’s mother has same number of sisters as she has brothers. Her maternal uncle, Anitya

has twice as many sisters as he has brothers. How many maternal uncles and aunts together
does Nitya have ?

1) 6 2 5 @ 3 (4) 7

20. 3F faA TEE foRmey 9 TEE 9@ yEwEE WUE 4T WO IE0. T R SegERr
THES 5 A 60 for.Hl, S anht o1 TR HIavE™ e he.  qHU goam e fowmn 15 fafe
3T e @ @ 65 R S A A1 A YT e el T R0 9@ d TR ST 2

(1) T § e (2) TEHB 7 : 30 A
(3) HHIS 7 : 45 AN (4) EHEE 9 : 15 T

Two friends decided to practise running from the same spot and at the same time. One of the
friends started exactly at 5:00 am with the speed 60 Kmph. Second reached the starting
point 15 minutes late and started running with the speed 65 Kmph. At what time will both

be together ?
(1) 8:00am (2) 7:30am
(3) 7:45am (4) 9:15am
21.
L
A Apdld ferdl Al 38 ?
(1) 308 (2) 315 3y 209 4 317

1

I
-
\

How many squares are there in the above figure ? '
(1) 308 (2) 315 (3) 209 4 317
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22, W MR TEE G @Ee € TigE e S -

(1) e (2) wERd (3) WAL (4)
River basins of Bhima and Godavari are divided by the following mountain range.

(1) Balaghat (2) Mahadev (3) Satpuda (4) Ajantha

23, fRum1: Yewrem (e Jiemss W sHice TeHE el qed A,
faum 2:  werE! ydaw duice wEHE W€ gAifs e gaR 2200 fr. SR
it S
1) w19 faum st
(2) w2 faum e
(3) Ul favm s oae ol gon faurm o= S99y Tl

(4) e faur Fhe s g faum ofeen favren sa+3 <.

Statement 1:  While moving from East to West the thickness of Basalt Rock increases.

Statement 2: The thickness of Basalt Rock in Sahyadri mountains is the highest
approximately 2200 m.

Answer options :

(1) Only 1* statement is correct.

(2}  Only 27 statement is correct.

(3) First statement is correct, but first has no relation with the second statement.

(4) Both the statements are correct, and the second statement strengthens the first statement.
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A
24, AR FYE/FIA SeEl

(a) TERIETG TE) HiSYTE Faid Wi 918 Tearyl 39 e,
(b) WIREI T Flereyd e .

Tt 3

(1) T (a) TR, FT (b) IH

(2) FU (a) T FE (b) TE T

(3) U (a) T YA (b) I TR

(4) S (a) GHIH, FAA (b) SN

Select the correct sentence/sentences.

(a) The largest coal reserves are found at Ballarpur in Maharashtra.
(b) Khaperkheda is not a hydelpower station.

Answer options :

(1) Sentence (a) is correct, (b) is incorrect

(2) Sentences (a) and (b) both are correct

(3) Sentences (a) and (b) both are incorrect

(4y Sentence (a) is incorrect, (b) is correct
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25. 912 N Hefem W A= e s el qafgiist drg wafa e

HIE
(@) FEW R
(b) ERER
() wwoof =

(d) 3= e

@ (b (o)
1 ® @@ @)
2 @ @ O
@ ® @) @)
(4)  (v) () (@)

@
(i)
(iif)
(iv)
()

16

R
() A - rEeR @
() Hag - T @
(iii) HITHIYE - TR T
(iv) O - Hag

Match the following Ghats and their respective routes and choose correct option.

Ghat
(a) Kasara ghat
(b) Bor ghat
(c) Pasarni ghat
(d) Amba ghat
Answer options :
(@ (b) (o)
M O @ @)
2 @ Gv) @
G © @) @)
(9)  (v) () (i)

(d)
(i)
(i)
(iv)
(i)

Route
(i) Wai - Pachgani road
(i) Mumbai - Nashik road
(iti) Kolhapur - Ratnagiri road
(iv) Pune - Mumbai road
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26, 92 nfor i TR FieA e YT Groie WGl A v e

a2 W
(a) Wil - Sl () 3 FEEH
(b) g (i) T
(© Fw (iif) A foheen/Tm gt
(d) I (iv) WIS
Tt I

@@ (b (
1) @ @) @) @)
(2) @) (Gv) @ (i)
@) @ @ () ()
@) G(v) @@ @ ()

Match the following islands with their respective places and choose correct aptions.

Island Place
(a) Khanderi - Underi (i) Urantaluka
(b) Gharapuri {iiy Alibagh
(c) Kurte (iif) Janjira fort/Padmadurg
(d) Kasa (iv) Malvan

Answer options :

@@ @® (© (@

1 @ @ @) (i)
(2) (@) @(v) ) Gi)
@ @ @ (v) (i)
@ (v) @ @ (D)
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27. o HMERIENS GHTS Y97 dede8 ITUT ST
(a) IETE WL A (b) T FRtoTE y
(©) fo=h faermas =19 (d) I = ifae ganon
wgi S
(L) (a) &R () (@) T (b) FH
(3)  (a), (b) T (c) (4)  (a). (b), (c) ¥ ()

Rise of social enlightenment movement in Maharashtra took place duc to the
(a) Impact of Western Culture (b) Impact of Western Education
(c) Work of Christian Missionaries {d) Scientific and Materialistic Reforms

Answer options :

(1)  (a) only {2} (a) and (b) only

(@) (a) (b) and (c) 4) (@), (), (c} and (d)
28, _ B AENERS uize el gid.

(1) ke Ko

() « slifides ffin Hvg it St

(3) o gages feafn ofve Sfen St

(49) s feaf sfvg difegT o

. was the first Textile Mill in Maharashtra.
(1) Throstal Mill

(2) The Oriental Spinning and Weaving Company

(3) Bombay United Spinning and Weaving Company

(4) Bombay Spinning and Weaving Company

HoAl HHTETS W / SPACE FOR ROUGH WORK
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29, EWE® HEIOT (1916-18) WA WHA HQqoTr= FEEEM T T
(1) il T (2) “EEaR!
(3) AR (4) TiEETRT
The Home Rule Movement (1916-18) started in the ____ _phase of Indian National
Movement.
(1) Militant Nationalism (2) Extremists
(3) Moderates (4) Gandhian
30. Sired @@
e TeATUeh
(@) T3 IJIEIHEA () Y NERE
(b) g SEEd sraifaueE (i) frdeTems dea
() IO HESE | (iil) T TS
(d) HETE WRH 99l (iv) SHTH. 3R
qater 39

(@ () (0 @
1 @ @) @y (@)
2 @ @ (v) (i)
@) (@} @v) @ ()
4y (v) @) @G
Match the pairs :

(=]

Institution . Founder
(a) Mumbai Association (i) Jagannath Shankarsheth
{(bp) Mumbai Presidency Association (if) Firoj Shah Mehta
(c) Pune Sarvajanik Sabha (iii) Justice Ranade
(@) Madras Mahajan Sabha (iv) G.S. Iyyar

Answer options :

(@) () (& (d)

1 O @ @) @)
(2 @) @ Gv) (i)
(3 () @Gv) @ (i)
@ Gv) @) @ @
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31, 'foreome W v =R fewmmi S e A 1R, T STt Y0 2. 3% aw i

(a) T fadwre (b) W AT B

(c) Tl dEERS FNETH d) B g TR

watEt I

1) (a) B (2)  (a) 30107 (b) Pk

(3) (a), (b) & () 4 (@), (b), (0 =@ (d)

tge? work of education is the manifestation of knowledge that the man has”. Who said
(a) Swami Vivekanand {b) M. jyotiba Phule

(c) Dr. Babasaheb Ambedkar (d) Chh. Shahu Maharaj

Answer options :
(1) (a) only (2) ({(a) and (b) only
(3) (a), (b)and () (4) (&), (b), (c) and (d)

32. HIFEN ST QERER U A% oF fahe1 Afus Tes oia] T 3 S 2
(1) 1953 4t 6 o =TT
(@) 1955 < 7 St HeAgEE
(3) 1956 =t 7 S SeAIGERI
(4) 1957 <t 8 Ht wRAGES

Under which Constitutional Amendment, one person can be appointed as Governor of two
or more States ?

(1) 6t Constitutional Amendment of 1953
(2) 7% Constitutional Amendment of 1955
(3) 7% Constitutional Amendment of 1956

(4) 8t Constitutional Amendment of 1957
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33. @G FHdmaed g FH O

(a) HrETHER &

() wEaF Hoda B

it 39

(1) (@) (b) (c) (d) (2) () @) () (d)

(3)  (b). @) (d) () 4 @ © b)) @

Arrange in appropriate order the Fundamental Duties :

(a) Protect the Sovereignty (b) Respect the National Anthem

(¢} Safeguard the Public Property  (d) Develop Scientific Temper
Answer options :

(1) (@), (b), () (d) 2} (), @) () (d)

G ®) @ @) © @) (d), () (b). @)

34, FTIHEATHA Yt qoYd TRRWa Yl Eoe e e =
(a) SrcuEEAmRT o e TS TR HOAT] ok SR
(b)  STETEEATEHAT Nafvrh TE TIIOGTE & i TAWT HOI TR IR,
() ¥ AR FRFE S = FIOE S8 TR
(d) Frigm FRfavamE! st FHOET TEUAEE! ASE a8 WA S Iw.
et Fiv fFT S{E oG ?
(1) (a), (b) W) (2) (b) FMT(d) @) (b) (g d(D) (4 (a) ()

Consider the following statements with regard to Fundamental Rights of the minorities in
Educational matters.

(a) The minorities have only the right to administer the educational institutions.
(b) The minorities have the right to establish and administer the educational institutions
(c) The right is absolute and not subject to any restrictions.

(d) Reasonable restrictions may be imposed by the Govt. to promote efficiency and prevent
maladministration.

Which of the above statements are correct ?
1) @ ®and(@ (2 Mandd (@) GL(Qandd) (9 (@ and ()
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35. 1976 =T 42 541 5] {ORIH WAIferchd HIVT Ta IGE! GHET T 3R ?
(a) wreim anfor wwTerad (b) AR I yEfRON

(c) o, 39T S oA Wfas  (d) AT Mt wa T
Fletst H faum/faum svET o ?
(1) = (b) @) () =fer o) 3) (c) =nfT (q) 4)  (b) W (d)

Which term/terms was/were inserted in the preamble by the 42" Constitutional Amendment
of 1976 ?

(a} Sovereign and Socialist (b) Socialist and Secular
(c) Faith and Individual diginity (d) Unity and Integrity
Which of the statements given above is/are correct ?

(1) only (b) (2)  (b) and (9) (3) () and (d) (4) (b} and (d)

36. GOIGIH! YRAE ARG RV oG Facq A ?
(1) oM THedor SO
(2) frafea =z 9
(3) TEI A 14 99 STAFR Fu fehan wied arq fggomean Gyt <0
(4) o TwE vaiy 9 TE
Which one among the following is not a Fundamental Duty of the Indian Citizen ?
(1} To defend the country
(2) To pay taxes regularly

(3) To provide opportunities for education to child or ward between the age of six and
fourteen years.

{4) None of the above options is correct
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37.

ey wi=a wfirerien T oot R qiRd SREs o A ?

23

38.

Wt St
(1) g gt 2, TS TS
(2) HEEHN WiHA! &, T, gl
(3) HOWH TFF TURIAI 31, . Fqer
(4) STCTHEAE ISUHHA ST 39S FOH TR
Which one of the following pairs is not correctly matched with regard to the Committees of
the Constituent Assembly ?
Committee Chairman
(1) The Steering Committee - Dr. Rajendra Prasad
(2) The Business Committee - K. M. Munshi
{3) The Fundamental Rights Sub Committee J. B. Kriplani
{4) The Minorities Sub Committee Maulana Abul Kalam Azad
%r%n'a TRE W9 a@araa e .
!Al IB'
(a) faaw i 78
(b) TR H WP (i) 63
(c) HAEH (i) 36
(d) wEU (iv) 72
Tt I

@ () () (4
O @ @ G @)
(2) (@ (v) () @)
@) Gv) @) @) (D)
4 (v) @) @ @

Match the pairs with regard to the number of MLCs :

IA’
(a) Bihar
(b) Jammu and Kashmir

(¢} Karnataka
(d) Maharashtra
Answer options :

(@) (b) () (d)
1 & G () )
(2) @) @) @) (@)
(3) Gv) (@) @) 6
(4) (v) () (@) ()

A‘BI
G 78
(i) 63
(i) 36
(@v) 72
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39. I @Y Waid AR ®oH 368 TR ST YO AT SR T oIl
HIETE W GO HLogTE] HIYFR THe STHA™ T F0 7

(1) h¥EHE YREl (2) TowEY
(3) A fHT 4) vl ¥ER

In which case, the Supreme Court decided that as per Art. 368 the Parliament has the power
to amend any part of the Constitution except those parts which formed the “Basic Structure’
of the Constitution ?

(1) Keshawanand Bharti (2) Golaknath
(3) Sajjan Singh (4) Shankari Prasad

40, U FUT/FY A@El.
(a) ToAUS 1/12 Hew faurufada frge w% yeam.
(b) TS U fafudeam o waam.
(1) FT (@) TR, For (b) G
(2)  FUA (a) THTE FUF (b) TR
(3)  FEA (a) I (b) g ==
(4)  FE (a) I (b) TR FHIAT
Select the correct statement/ statements :
(a) Governor may nominate 1/12 members to the Legislative Council.
(b) Governor is a part of the Legislature of the State.
{1) Statement (a) is coirect, Statement (b) is incorrect.
(2) Statement (a) is incorrect, Statement (b) is correct.

(3) Both Statements (a) and (b) are correct.

(4) Both Statements (a) and (b) are incorrect.
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"
(a) §HA T HfE
(b) I e wiaEy
(c) | FTH HIE AfRR
(d) 7M™ TEEd
@ ® ©@ (@
QO @ @ @ @)
(2 vy @ @5 (i)
@) (v @) @ @
(4) (v) (i) () ()

Match the pairs :

(2)
(b)
(©
(d)

(1)

"
Uniform Civil Code
Prohibit slaughter of cows
Right to Work

Gram Panchayat

(a) (b) (o (d}

@ @) ) @)
Gv) @) () (i)
(v) (i) (1) (i)

(v) (i) @) ()

(i) STTRT 48
(iv) T 44

B
(i)  Article 40
(i) Article 41
(i) Article 48

(iv) Article 44
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'42. gt SAURTRT=AT SR 2005 Sala EeeE! FuE faur v o ?
(a) T HIfEE qm AEd YAMgiaaT U sronT A,

(b) TTH WG 3geA e | arAt 75 A qAfigfas 9 et
(c) A TN Hewta Al Al foraman fhan <@ JearE R A

(d) ‘e e yren Safnd gl i e .

Tt 34y
(1) (a)3fo1 (b) wa (2) (a) &nfvr (d) ®=
(3) (b) 3 {c) FH @) (a), (b) 30fw (d)

Which of the following statements are true under the Right to Information Act 2005 7
(a) The State Chief Information Commissioner shall not be eligible for reappointment.

(b) The Chief Information Commissioner is eligible for reappointment till he attains the
age of 75 years

(c) Information may be asked and given orally under this act.
{(d) Third Party includes public authority.

Answer options :

(1) (a) and (b} only (2)  (a)and (d) only

(3) (b) and (c) only (4) (a), (b} and (d)

43, TR Afed SHATedt Tfysram éio ded fadt miest.
1) 15 fead (2) 30 fea® (3) 45 feam (4) 60 feaw
The information demanded shall be provided by public information officer within :
(1) 15 days (2) 30 days (3) 45 days {(4) 60 days
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44, wifedt sAfuer Afufrm 2005, 31 Afafarad fadwn R RSN U STE QT
e 3 ARl TEE FET SvErEl FUSHR THGUS! IV TATSAS T8 ?
(1) = Y (2) waET= =
3) Foier =g e (4) SUBYH! HITSE E

Which of the following Courts has jurisdiction to entertain any suit, application, or other
proceeding in respect of any order made under the Right to Information Act 2005 ?

(1) High Court (2) Supreme Court
(3) District Court only (4) None of the above

45. wErE FENiE witstnese miaest mid gu=n qeats Tfustnse Sue™ § W o o

TUHTOTHS TRNARET FIAS IFH feormiten s fows wdl IR T

(1) 5 (2) 10 (3) 15 (4)y 20

If the information requested is held by another Public Authority then the Public Authority to
which such application is made shall transfer the application within days from
the date of reciept of the application.

(1) 5 (2 10 (3) 15 (4)y 20

46. il STSNEH Hifgd! TS/ WENRIE Aifed! fohan Wanfha Mfedt fis<mmes o Sre Fesg wal anfu
SUGA ST, A B TEUAI ?
(1) SEWES (2) wel*e (3) WA (4) T =

What an algorithm is called which is employed to encrypt and mask the information in
storage or transit using cryptographic technique ?

(1) Firewall (2) Rootkit (3} Cipher (4) Puretext

47. DDoS ¥ WHITTHT RV FHRET T G/ Thams) T ?
(1) EIUHE SRS Foel (2) ¥H
(@) fwet (4)

Distributed Denial of Services (DDoS) is considered to be which of the following types of
cyber threats ?

(1} Network Attack (2) SPAM
(3) Phishing (4) Pharming
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48, TORITTE YoM ¢ 3- vy WG T wHE e STR, S ST S Moo T "o
S AR, ESOTR FG e @ wwee i e A e aR S g <.
anftfer =reRmrETe fasfag e o e JTEE St 31 ?

(1) ¥ (2) wgIAd () T A/emd @) §=

Electronic payments are central part of E - Commerce which is a very important applicationof
computers in everyday life . Which of the following protocols is developed by Microsoft and
VISA to provide the necessary security to payment transactions i.e safe payment
transactions ?

(1) SOAP (2) HTIP (3) TCP/IP (4) SET

49, TF yE /T g | srfugaticn e el nfon i weeien yes R @ gadtfar
e/ T o &), e _ UL

(1) HAEAsT (2) AEIIR (3) W AW (4) ZeEEd

A deceptive program installed without authorization, that monitors consumer’s activities
without their consent, is known as __

(1) Malware (2) Spyware (3} Keylogger {4) Trojan Horse

50. WOGIH! HIU AlSIovE a3 faHos (VAT Yds TH-AME) e 39T S/ ded ?

(1) B 2 XwH 3) W 4) TEEug

Which of the following modulation techniques finds the value of the signal amplitude for
each sample ?

(1) Delta (2) ASK (3) PCM (4) FDM

51. WISRHTE ST it 49 agacd . @OIGUH! IV YT € GO0 S srvjfagd S
o, WE (e amHe U i SuarEE argle | ?

1) = 2) 3-YwEe  (3) IR (4) fus

The application of computers is vital in the music industry. Which of the following devices is
used to standardize the communication among the computers and electronic musical
instruments such as synthesizers ?

(1) WAVE (2) 3-DSOUND (3) SRS (4) MIDI
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52. Sufas faur anfin wmfgdi-damm, MCIT, YRe TR 3= 9= faamm Wt
HI FEHH TAAE G, Wi Gaiget S SiTHHe I9E A1 IWAH T FOA[ 9,
W @A A FEEA THdrare/smnd, fagm, Iwsifae snfor s eee aE! ICT
TR STAIG 37 ?

(1) faen arfe (2) wHaEA

(3) fatn fmn & (4) ¥k W FifA

Which of the following programmes promoted by Department of Electronics and Information
Technology, MCIT, Govt. of India, started with the functional activity areas such as World
Computer, Bits for all and Tomorrow’s Tool, however was later changed to application areas
such as ICT for Healthcare, Education, Livelihood and Empowerment of the disabled ?

(1) Vidya Vahini (2) Gnyan Vahini

(3) Media Asia Lab (4) Sampark Pradnya Kranti

53, W@t B A § Saaait wied [IGUAEISt ARt S Same duiarel AaEid! SadE
Afed! 76q ?
() T (2 TYWHE @) YTA I (1) TTHWW

Which of the following is a language for description of web services which contains the
necessary information about the clients of the web service ?

(1) XML (2) WSDL (3) UDDI (4) WML

54, WISBI] RV FTeHA T Afasa faum, una TR ifor dged U faww FwR G dgea
Yohed 3718, St SRaTdte deiftre i Wyilys qHse 9o U199 YEM FUATHE) ST9e ST 2

(1) IR @ e 3) TR (4) wiwRTe
Which of the following is developed as a joint project of Department of Electronics, Govt. of

India and United Nations Development Programme, to provide computer communication
for the academics and research community in India ?

(1) ERNET (2) NICNET (3) INDONET (4) SOFTNET
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55. W sl fordl e anfvr Sifee Sl snoem mweeht dafirn Wi smoen Dt WO,
Aeiavarardt a8 S HrEel 96 {aia deait gt Mivd S soamrd! geen daot @, "%
A ARSI T AAUF FOATE] oKl D], A HITEH U,

(1) Ta-fou-fe s

() fesier faefrm widwe s@a

(3) 3le@ 90 I GRS wWEHEs HHEE
(@) FA-vi PG

The act which requires that financial institutions and credit agencies increase the security of
systems that contain their customer’s personal information and it mandates that all financial
institutions design, implement and maintain safeguards to protect customer information, is
known as

(1) Gramm-Leach-Bliley Act

(2) The Digital Millenium Copyright Act

(3) Identity Theft and Assumption Deterrence Act
(4) CAN - 5PAM Act

56. WSTdw! woea Wfhdl/ AR $E- 0T e uiarEd SRR e sTed ?

(a) UTHIR |t
(b) TR TN
(c) TR Hiwwe
ot feoeu wafms! 9vg wig fae

1) (a) ) (© (2) (a) SO (b) (3)  (b) 3 (c) (4) (a) 30 ()

Which of the following Committees/ Commissions made recommendations about the Centre
- State relations ?

(@) Rajamannar Committee

(b) Sarkaria Comunission

(c] Tarkunde Committee

Select the correct answer from the codes given below :

1) @), ®)© (2)  (a) and (b) (3) () and (c) (4) (a)and (c)
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57.

‘iEr’ w yufaa ?
forar=a #ermyla o F10 HOT Sien Heum iy,

(1)
(2)
)
(4)

YR Haig oiseie deoEd EM.
J-verg YIS G faamme srfirssre.
TR &9 Foo! TEHT Igd.

What does “Lakhina” stand for ?

(1) An award given to the one who outshines in Women Sports
(2) The latest satellite mission launched by India
(3) Defence installation in Leh-Ladakh
(4) Administrative pattern implemented in Maharashtra
58. TR WAl STqehles Yeer TEUIR {TYIe ST ?
(1) =FEA @) =& fd
(3) Vega T (@) = s
Who was the longest serving Governor in Maharashtra ?
(1) Vyankatraman (2) V.V.Giri
(3) Shankardayal Sharma (4) P.C. Alexander
59. I “A” 9 ¥H “B” 9o Sied Jaa
" p wg
(T ) (w)
(a) RS T () e
(b) weAIgEE wiEHa (iiy 39T
() Hoadl gEt (i) g0 eIfheR
(@ () (©
O G @
@ O @ G
® i) @ 6
@ @ 6 @
Match the list “A” with list “B” :
" A" ugr
(Provisions) (Sources)
(a) Rule of Law (i) Australia
(b) Amendment Procedure (i} England
{c) Concurrent list (iii) South Africa
(@ (b) (o
1y @) @) @
@ @ @ (i)
@y @) @) @
(@) @) @ ()
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| 60, AT FEIYE WIS T AT ST ST W
(1) 390 9% T 90 |
(2) TEU9H T 9O

(3) THU TY FX R 99 TF TR

(4) o =) TR T

The Attorney General of India is allowed to take up practice if :
(1) the other party is the state

(2} the other party is not the state

(3) the other party is the centre but not the state

(4) none of the above

61. WOIEm! SENA HI ¥ty A R ?
(a) o ot Az,
(b) HAHeEANaTG AlFea™ I AR FH,
(c) eudifaeg waifvEm drefa,
(d) swforaroR =revg wrE 3O,
it Iy :
(1) () = (o) (2) () T (b) (3) (b) 2o (d) (4)  (b) 3 (c)
Which of the following are the exclusive powers of the Loksabha ?
(@) To introduce money bill.
{b) To pass the motion of no - confidence against the council of Ministers.
(c) To impeach the President.

(d) To ratify the declaration of emergency.

Answer options :
(1) @and(© (2 @and(®) (@) Mand(d)  (4) (b)and (o)
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62. HEIH iUl WA AASHE ST HH@ DHEWl HagR HamyA Faevs sefad ad #1?

(2)
(b)
(©)
1)
(3)

33

el fagus e Jur .

TEEHTE T AAeREHE] d@ra T #i ofe Wl Fasus eefaw 3.
T T W AT T @ @ s oefa 49e.

(a) ¥ AT I IR, (2) (b) T TS I L.

() & TR TN IR, (4) FGTUF FIURE ITW U G

Whether a voter registered in Mumbai can contest elections for a Loksabha Constituency in
Assam ?

(@)
(b)
(©)

1)
(3)

He can’t contest the elections.
He can contest the elections only if he was born in that constituency in Assam.

He can contest those elections only after residing in Assam continuously for at least
five years.

{a) is the correct answer (2) (b} is the correct answer

(c) is the correct answer (4} None of the above is the correct answer

63. IS YA TEHY T4 9 FgomrHid To0 95313 3ed e HINNE AN e agq.

ST I L

(1) 0o faum @4 e,

(2) wESA faegod g T

(3) YRA U&h To9/SRIE 9o i ok,
(4) wEREE U e s TR,

Today, the number of states and Union Territories India has is exactly equal to the number of
districts the state of Maharashtra has :

Now state whether :

(1)
(2)
(3)
)

The above statement is correct
The numbers do not match at all
India has one State/ Union Territory more

Maharashtra has one district more
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64,

34

(1)  weweE ufes (2) erfiEe
(.3) | ﬁuaa: 9 TEgoE SiEE (4) srferaem
Who is called the ‘ears and eyes’ of the Public Accounts Committee ?

(1)  Auditor General (2) Attorney General

(3) Comptroller and Auditor General (4) Advocate General

65.

YR LT ST T T FoweT w2 ?
(1) FoEEs (2) 9RAN Wt =
(@) YR ST (4) TdetEt uh €@ TE

The President of India can resign from his office at any time by addressing his resignation
letter to :

(1)  Prime Minister (2)  Chief Justice of India

N (3) - *Vice - President of India (4) None of the above
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66. WSS e Feodl ;
Hei-of et - 7
(TETIgwET ) ( Tragite )
(@) 694 HEAgE () TR WIS AR S,
(b) 759 wEAIGER (i) STEUTES YavHI® THdiAs] STYIad = STResT T
L.
(c) 803 weAgEET (i) <@re fom sarT= RrwRe fe.
(d) 83d SeIgE (iv) Teoeoht @ Ut qeyT e <,
it 3@
(@ (b) (9 (d)
(1) (v) () @) (3
2) v @ @) (@)
() @) (v) @) (i)
@ @ 0 @ @
Match the following :
List - A List- B
(Amendment) (Particulars)
(@) 69" Amendment (i)  Establishment of state level Rent Tribunals.
(b) 75% Amendment (i) No reservation for Schedule Caste in Panchayats in
Arunachal Pradesh.
(c) 80t Amendment (i) Accepting the recommendations of 10%* Finance
Commission,
(d) 839 Amendment (iv) According the status of National Capital Territory to Delhi.
Answer options :
@ @) (© (d
O (v G 6@ 0
@ (v 6 @ @
(3) i) Gv) (@) (i)
@ G @ @@ ()
67. @ fau war -

(a) TIERASAT 108 1 FEHITHR HUR=1 Q-8 WIFEIE! HYF SoF SomEs ..

(b) 1961 A S TUEIE YA HYH SoF FA.

TSt wIvR/dt faum/ qiET aR/q?

(1) W (a) (2) W (b) (3) (a) 30fT (b) (4) TR TE

Consider the following staternents :

(a) The joint session of the two houses of the Parliament in India is sanctioned under
Article 108 of the constitution.

(b)  The first joint session of both the houses was held in the year 1961.

Which of the above statement/s is/are correct ?
(1) Only (a) (2)  Only (b) (3) (a) and (b) (4) None of these
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68. WareA dfaumrst o/ fagia Fuifa FwamEt 19 3 1928 I Hadasd wow wdusiyg

FHUIAT ARG WA TEA FvAE IS ?

(1) wfeEre fam 2) T T gEE

(3) U Adiee Yew (4) U AR IEE

Under whose chairmanship a committee to determine, the principles of Constitution of India
was established at Bombay in the all party conference on 19" May 1928 ?

(1) Sachidanand Sinha (2) Dr. Rajendra Prasad

(3) Pt. Motilal Nehru (4) Pt Jawaharlal Nehru

69. U@ T faumridie oM SEw 278 ?
(a) |7 1951, 1961 § 1971 =1 STVH®IA WERA &5 99 9 AfUF oui=n I FRwm

TS B,

(b) & 1981, 1991 & 2001 N SATVHHA HERAT L7 T4 q AHF A=A SIHIAS! HIEUaw
1.

gt 3@

(1) *ae fauM (a) TR R, (2) 9w fSYM (b) TR TR,

(3) To9m (a) 9 (b) I WX 3. (4) 99w (@) T (b) =T TF 37w

Which of the following two statements is correct ?

(a) Literacy rates for 1951, 1961 and 1971 Censuses were computed for population aged
5 years and above.

{b) Literacy rates for 1981, 1991 and 2001 Censuses were computed for population aged
7 years and above.

Answer options :

(1) Only (a) is correct (2) Only (b} is correct

(3) Both (a) and (b} are correct (4} Neither (a) nor (b) is correct

70. Yer® g faurmEr faar 3.

(a) ToTEN T WESTH @9 WA 96 ST Hal Uiy WES T SThRA | T

(b) TEAEH U WEHITH G Wil 9ot AY kA Ty A i TEl.

Fw I Tt Fo faum g o ?

(1) FE () () F9% ()

(3) = (a) 3 (b) (4) IR TR

Consider the following two statements :

(a) A member of Rajya Sabha can be a member of committee on Public Accounts but
cannot be a member of that on Public Undertakings.

(b) A member of Rajya Sabha can be a member of committee on Public Accounts but
cannot be a member of that on Estimates.

Which of the above two statements is correct ?

(1) Only () (2) Only (b)

(3) Both (a) and (b) (4) Neither (a) nor (b)
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71. TOT TE ORI W1, WA Wed e fauma Fasumingd §d sHear
15000 &% 7 fHeoTe. THTE FaSREURT FaSUF Teiau=n TErRl Sl @E! I
wa feavamdt it w0 fed T frem! niesa ?

@) 2500
(b) 2501
(c) 1500

(d) SHZaR fragd seam 2400 Yan et A0 fomre o @t A W Je W@ e,
it 3w _
(1) 9% (a) 7 W& I 3R, (2) (b 30T (4) B I AR R4,
(3) (a) SN (b) & I IS A, (4) wlSie! B I a "

Consider the following example - Total no. of valid votes polled by all the candidates at the
assembly election in an Indian state are 15000. To get back the security deposit a candidate
(contesting from only one constituency) must secure how many minimum number of votes ?

(a) 2500
) 2501
(c) 1500

(d) If a candidate is elected and secures less than 2400 votes he can get back his deposit
irrespective of the other rules.

Answer options :
(1) Only (a) is the correct answer (2) (b) and (d) are correct answers
(3) (a) and (b) are the correct answers (4) None of the above is correct

72. (a) RTE TN fARES 18 FEA I TEO™ W ST THTAT SIN[eT qHE SRS S
(b) R TR TN Faw@s Tig HE I TEOT W 36 AhTo8] TN {H Shtes g adl.
@ ST @ faur slee SR ?

1) f5um (a) Foz W (2) faum (b) Fa@ T,
(3) (a)F(b) A< foum AR ARA. (&) () T (b) V= Faur =R .

(a) If you are facing the National Emblem the horse appears next to the wheel on your
right side.

(b) If you are facing the National Emblem the bull appears next to the wheel on your left
side.

Which of the above two statements is correct ?
(1) Only (a) is correct (2) Only (b) is correct
(3} Both (a) and (b) are correct (4) Neither (a) nor (b) is correct

HoAT HWMEES AFT / SPACE FOR ROUGH WORK

P.7.O.

wrenss StudentBounty.com


http://www.studentbounty.com/
http://studentbounty.com/

JO3

73. Y&te IF faumien faam .

(a) HA-Tod IRESHT ASHT qSARNE FHTel.

(b) ftace foamre] AV HE SRR (A=) Srefas .

ST | I

(1) H9@ (a) IH 3R, (2) 9@ (b) T AR,

(3) (a) T (b) TE HYA T 3MA. (4)  (a) T (b) T=T Faum =¥=7 T,

Consider the following two statements :

(a) The meetings of the Inter State Council are held in camera.

(b}  All the issues, that come up for consideration are decided by consensus.

Now state whether :

(1) Only (a) is correct (2)  Only (b) is correct

(3) Both (a) and (b) are correct (4)  Neither (a) nor (b) is correct
74. DHAIA TG HEHT QoSS! SR/ faur/S atEt a/q ?

(a) Treudiet Al srdveld d siroen e Uy YA,

(b) SR T ATIEAT G TS NFEN SHS T A T8 T STHTi=ar rd Yqe Har.
(c) TrwgY Hedrqd foafsa Feam @ ey ygwe .

it 3@

(1) (a) 30T (b) (2)  (b) e (c) (3) R (c) {(4) HE (b)

Which of the following statement/s regarding the office of Speaker is/are correct ?

(a) He holds office during the pleasure of the President

(b) If he intends to resign, the letter of his resignation is to be addressed to the Deputy
Speaker

(c) He loses his office if the house is dissolved before the expiry of its term.
Answer options :

1) @and) (2 @and(© () Only (9 (4)  Only (b)
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75.

o faue wer

() Ww&ﬁwmﬁwmwwwm
(b) mammﬁwszwm@mwwwaﬂﬁmm@mm eI,
FoTH! HIVE/d faum /3 TE mR/q?

1) W (@) @ () @ @ap) (@ =R
Consider the following statements :

(a) Article 17" of the Indian Constitution abolishes untouchability ? .
(b) The 52" amendment of Indian Constitution introduced the anti - aefecﬁon provisign.

Which of the statements given above is/are correct ?

(1) Only (a) (2) Only (b) (3) (a) and (b) (4) AN'o‘ne of these

76.

R FoR/ @ fae) aE

(a) SR UgUd 9 WG weim @, m?ﬁwﬁﬁnmq?ﬁﬂiﬂﬁwweﬂ%ﬂﬁagsﬁqﬁﬁ
AT TBI[F FHUR FHIAw.

(b) T frasvm e wryl fram anftn FwE it Waﬁuﬁmwm.

(¢) WA WL HSAT W 3N

Tt 3 , |
(1) (a) =0 (b) ) (b) 3o () @) @s&frE) (4 wF() B |
Which one of the following statements is/are correct ? '

(@) If the President and the Vice - President resign, the speaker of the Loksabha will act as.
President till the new President is elected. '

(b} The Constitution of India prescribes both the minimum and maximum age limits for :
contesting the presidential election.

(c) InIndia, the President is a part of the Parliament.

Answer options :

(1)  (a) and (b) 2 Mand(@ () @ad@ - @) . Only (e
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77. RIS 4 U&1 IV HAN I AS § THS H 7
(a) Wl UE wiaw
(b) e HidH
() Frem
(d) VEE] FTHIR U
it 3@
1) (@), (b), (), (d) (2)  (a) (d), (o). (b)
(G) @, (©, (d) (b) (4)  (a) (d), (b). ()

Arrange the following four political parties in a chronological order in which they were
established ?

(a) Indian National Congress

(b) Rashtravadi Congress (Nationalist Congress)
(c) Shivsena

(d) Peasants and Workers Party

Answer options :

0 @ o) © @ @ @) @), © ®
(3)  (a) (¢} (d), (b) 4 (@), @) (b) (9

78. faumuiug Fmin fhar gq=m s SifHeR Sivie a7 2
| (1) faum |9 '
(2) = TR, HYE WE= 2/3 9gHaH U9 GNd Al STHET.
(3) FE UGN
(4) o IR FOiE T
Who has the power to create or abolish Vidhan Parishad ?
(1) Vidhan Sabha

2)  Central Government, after resolution is passed by Vidhan Sabha by 2/3 majority

(
(3) Central Government
(4)

4) None of the above
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79. WY wfeur=n e sy
TGS TR 3.
(1) TS Yu, HEm, frgm anfn Aerea
(2) WY, IS, AeTEg HIfor ST
(3) HEM, AU, FeTeA sy gy
(4) e, gured, g anfor fagim
The sixth schedule of the Constitution of India deals with the administration of the tribal
areas of four states of ;
(1) Arunachal Pradesh, Assam, Mizoram and Meghalaya
(2} Manipur, Nagaland, Meghalaya and Assam
(3} Assam, Manipur, Meghalaya and Tripura
(4) Assam, Meghalaya, Tripura and Mizoram
80. WP RS TArA Uil Fdvie ditel FvR/df a/ ™ e S/ /a7

(a) AU wicar o Yearen TR

(b) UTHYATI S T

() FAFTRHIEE WHHE MY FE-T

(d) FHEHFR HeaE AHEHNRT HRET

LRIE T

(1) (a) 3n(d) (2)  (b) 3 (c) 8) WH () (4) WH (a)

Which of the following Directive Principles of State Policy has/have not been implemented
so far ?

{(a) Promotion of International peace and Security.
{(b) Establishment of Village Panchayats.

(c) Uniform Civil Code for the citizens.

(d} Separation of Judiciary from the executive.

Answer options :

(1) (@) and (d) (2)  (b) and () (3) Only (¢ (4) Only (a)
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Hfad =1 ‘S =1 S R Frd e o ?

81.
(1) = @ <A (3) TH (4)
What is the maximum tenure of Sheriff of Mumbai ?
(1) Five years (2) Two years (3}  One year {(4) Six years
82. st uFd ¥ Tl Wl TR e, A S E S FMegvmmiAntd qagH SUed S, die

et e 9N YUl A ARG, | HUYHN TAGH HE Vht (o 7
(a) o AGEM FE YHUIN TEM.

(b) O T TRALER] TR UI8e Yehdle.

(© d TRUT YR JAEEE ST 9aeH H& i,

(d) WA FaeveE SR TR SO §9d RIS (9962 Website) T d AdeH & &
.

(e) vRa™ fad < AUSR V[ 7ig S 3¢ 3T FAGH Halek MEA A WM FH Ah(,
gt 3wt

(1} (a) ® TUR W TR, (2) () B T I AR,

(3) () ¥ T I AR, (4) (b), () 3nfn (d) & T T IN IR,

Mr. X is a non - resident Indian citizen. He wants to vote for the Loksabha Elections. He has
completed eighteen years of his age. How will he vote ?

(a} He can't vote.

(b) He can send his ballot paper by post.

(c) He can vote at an Indian mission abroad.

(d) He can vote online by accessing the website created by Election Commission of India.
{e) He can vote at a polling station in India where he is enrolled as a voter.

Answer options :

(1) {a) is the correct answer (2) (e) is the correct answer

(3)  (c) is the correct answer (4) (b), (c) and (d} are correct answers
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83. WAIYHIT FIF ASR FHS! fow Farel.
@) == (b) Tt (c) shmEmg (d) <=
it I
(1) () (d) 2) @ «© @) (@ @) 4 ) ()
Select the places where there are Cantonment Boards in the Maharashtra.
(a) Panhala (b} Shirdi {c) Aurangabad (d) Devlali
Answer options :
1) @ Q@ @ (@) © 3 © @ @ ® @
84. WOOIH! Hive % qoaatd dea AU T HE WET HH 7
(1) 1952 (2) 1954 (3) 1957 (4} 1959
In which of the following years the Central Government established Balwantrai Mehta -
Committee ? '
(1) 1952 (2) 1954 (3) 1957 (4) 1959
85. W Fua foresr wikwewn fermm fordt TawTaRY T B eTafie et ?
1) 2) =R @) @ @) A
How many minimum aumber of general meetings of the Zilla Parishad are expected to be
held in a year ?
(1) three (2) four (3) twelve 4y two
86. WRMTRUIGH=a1 TATIRIES! FHIa FH {Fdl SFwEN Havas e ?

(1) 1em 2y 3=™@ 3y 4°9@ (4) 5o9@
How much minimum population is essential for establishment of Municipal Corporation ? ; ‘

(1) 1 Lakh (2) 3 Lakh (3) 4 Lakh (4) 5 Lakh
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87. IAF UWd NIaqd foafds 5 st w0
(73 1 FRATGERATTHY )
(1) o= ofgen dewten sfaden aR@uRT
2) fre frasuw M= @A
(3) FesywmHatan faon ame= vieedn de® Al aNERH
(4) fo=n grdeTen fesuE = @R
Every Panchayat, unless sooner dissolved, shall continue for five years from
(according to the 73" amendment)
{1) the date appointed for its first meeting
{2) the date of declaration of election results
(3) the first meeting of the Gram Sabha after elections
{(4) the date of election of the Sarpanch
88. WA WERIRW ___ UeA faw smam wE ot
(1) =en 2y few (3) Gl 4)  urEEl
Currently the _ State Finance Commission is functioning in Maharashira.
(1) fourth (2) third (3) sixth (4) fifth
89, wHEtw! wvK fau umae @] g w2

(1) TS 96 W TP THEts e ST,
(2) UNTHA] S43H Y AL 0T ufaam.

(3) EXHHTAT STaferia ITETU AR YHfaan.

(4) W SRTTEre TR TITEEE TrTEEs SteraTee qufew.

Which of the following sentences is not applicable to Gram Sabha ?

(1} Gram Sabha is constituted of all adult members of the village.

(2) Sarpanch chairs the meeting of the Gram Sabha.

(3) In the absence of the Sarpanch Dy. Sarpanch chairs the meeting of Gram Sabha.

(4) In the absence of the Sarpanch and Dy. Sarpanch the Gram Sabha meeting is chaired
by the Gram Sevak.
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90, WP T hoedlth TRUNGSH STAEvaE FaHaHal arg @iy fae

(a) OO QR (b) -7 A

(c) A= TEaT (d) 3= e

gt I '

1 (@, () @ 2) (b). () (d) B) (@) (@) 4} (9 (@)

From amongst the following select incorrect code of essential functions of the Municipal
council.

(a) Water supply (b) Birth and death record

(c) Establishment of Library (d) Higher Education

Answer options :

(1) () (b), (d) (2)  (®) (), (d) (3) (@) (@) 4 () (d)

91. T HIWIIT BIF= TEHT sTeral WU Hiver wiudral ffifdt St < 2

(1) T Wi (2) T i

(3) T afadt (4) fowg wfet

In order to enhance peoples participation in local governance which committee ic formed ?
(1) Ward Committee (2) Standing Committee

(3) Planning Committee (4) Subject Committee

92. TR aftwd= s = et wafa freer
(1) 1/3 < HigegR! SRR R
(2) STHfEA I q THREE! SFEER TR AT ST .
(3)  27% ST TaT HITE TSt ARG am.
(4) 50% ST AigEEEl SRMEW .
Select incorrect code of the reservation in the Zilla Parishad.
(1) 1/3 seats are reserved for women.
(2) Seats are reserved for the SC and ST in proportion to their population.

(3) 27% seats are reserved for the OBC's.

(4) 50% seats are reserved for women.
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93. WENII® TeM@! Tsars! T Gai=r g qaig Fast.

(1) 14190 (2) 11191 (3) 17H 1959 (4) 171962
Select the correct code about the establishment of Panchayati Raj in Maharashtra.
(1) 15t May 1960 (2) 1t May 1961 (3) 15t May 1959 (4) 15t May 1962

94. UMYARICTAT ScqaAT= T o ?
(1) =R9gl, uilvgt sufer 9 A i e+
2) AN el el SIH HEYOIIS 30% A i T,
(3) fafau dismi=n snoasEviEE! JarET arHarEder SIRH .
4) ol w
What are the income sources of the Gram Panchayat ?
(1) It collects taxes on houses, water and pilgrims.
{2) It receives 30% share in the land revenue collected from the village.

{3) Tt receives grants from the government for the implementation of various schemes.
(4) All the above.

p——

95, AN Tl hoedl SHI FEHoTIe (ol el ARG Ao et ?

(1) 20% (2) 50%
(3) e fuesa T (@) o wE v e AR
What is the share of the Gram Panchayat in the land revenue collected from the village ?
(1) 20% (2} 50%
(3} No share (4) None of the above
96. WRHH Walw =S a1 feert srfaem w0,
(1} 26 SIHERT 1950 (2) 15 HTE 1950
(3) 26 SERT 1949 (4) 15 T 1948
The Supreme Court of India was established on :
(1} 26 January 1950 (2)  15*h August 195
(3) 26 January 1949 (40 15 August 1948

97, ARNGHN SIS YaTR A GE FeT ¢

(1) =t dA. serEdr (2) =T SR
(3) A YA (4) —EmEEE o
The stream of Judicial Activism was initiated by :

(1) Justice P. N. Bhagwati (2)  Justice Kochar
(3) Justice Shukla (4) Justice Sen
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98. WH@IH! HIVIE WY fareHe Waiw <mEear smre feen 2R fs o8, el
HRIN HLOATAET MATIH FATSA o ST Wadt grigsiss a0 THE ol AR ?
(1) A meR faeg TR TR
(2) =fggd Maa faeg g1 e
@) fril foe favg wra w@R
(4) fasan faeg Usea™
In which of the following landmark decisions Supreme Court issued directives regarding
prevention, inquiry and redressal against sexual harassment of women at work
lace ?
?1) Menaka Gandhi Vs. Union of India
2) Bodhisattwa Gautam Vs. Subhra Chakraborty

(
(3) Minerva Mills Vs. Union of India
(4) Vishakha Vs. State of Rajasthan

99. HURATE! SARKIH HieislTeh fgqraa] Wal= Frredr Sl 44, 91 gEe Siadmms= =1
FOARET! HaS! WS W,
1) 30 @) 31 (3) 32 (4) 34
The Supreme Court can be approached by any person in the interest of general public under
Article of the Constitution.
(1) 30 (2) 31 (3) 32 (4) 34

100. WEBIH! HIVET T4 AT R4 2
(a) WA HGER fa. qerre Tg amHle Al gaavh 9 qaid HEedd gE w6 9.
(b) FTHT 226 T I IHAGIH WARY 0 A& q Hall=t =ATSATIEN T SRR .
) e feege (=ma) foeg e aifas srae & 49 TR

arg qag HEet
(1) =9 3 (2) e (a) W (b) T
(3) e (b) MY (c) HA (4) wd 9H

Which of the following statements are True ?

(a) Union Vs. State of Maharastra - this dispute will be directly entertained only by the
Supreme Court.

(b)  Article 226 confers more rights on High Court than on Supreme Court in the matter of
issuing writs.

(c)  Writs cannot be filed against Income tax tribunal.
Choose the correct alternative :

(1)  All statements untrue (2) Only (a) and (b) are true
(3) Only (b) and (c) are true (4) All are true
-00o0-
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8) yrYfaens fafwa Fown fafire srie &= #W (6 o) FR. wgfasefaie el @1
HIREL F= T FeI™ d HU FOA RN FS AR, TR AFS AEG 9 @O IHEEARET TEEAH
I e udiaied B Ry wiwsy FoaEEas Afafam-g2 " arie TEEaR BRAR S0
I3 9 el Aol HHTS TF aureT hrarEre i/ fhar 308 U s9R e dored fude I e

9) IR yTTArAHEE A fofew FOT do HUTIHW SHEANA € IRl S ala TOTHLIERR 99
IR TERT AR, T THT hTETR ATUaTgEl SHEAM STUear STRUTIher WiT-1 QA T
et wwa o) smavas I

TR

YT . 201, HArE @ TR FHIOITERE! R0 TS T FS 2

q. . 201

(1) T I Tt @ ¥varEe faEmrR

@ TMTHEAT @)  TISES TREe

T YN ARg S Y(3) TS TR e o AR, WS W W N SWO'(3)" 6o amad
GOOTAT ¥ %. 201 YA sw-wHH ' (3)'' ¢ Id@ 1oivn sEfwd e gt
AETIE AR

ONON NC

I TR W WY Uede WA ] SAGRHs 8 gl Haaie Tiaeet Iwulasale
T I THERAHRIERE Haivg a4 oiq0 SEifhd S qraaml, mﬁmmmmﬁ
ot ard, tfaes ar yEe O amE A,
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